RUNNING BOARD BRACKETS FOR 2023 HONDA H-RV

BLACK HORSE
OFF ROAD

INSTALLATION INSTRUCTIONS

RUNNING BOARD BRACKETS FOR 2023 HONDA H-RV
PART # EX-H2070

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




Before Installation

Parts list

RUNNING BOARD BRACKETS FOR 2023 HONDA H-RV

however they share the same assembly way.

® Please read the instruction completely for easy installation, which will also help you to avoid scratches
or other potential damages to your appealing car.

® The figures here are for reference only and may have differences with the actual product you received,

Care and Cleaning

® Mild soap may be used also to clean the Product.

® Please periodically check and retighten all the hardware and clean the investment for a refresh look.

Hex nut M8

NO. QTY PIC NO. QTY PIC
® 2 @ 2
Middle bracket (L/R)
© 2 @ 2
Front bracket (L/R) Running board (L/R)
o o>
Plastic retainers (p‘]o Flat washer D10 (10X30X25mm)
@ 4 o 5 4 %
Lock washer D10 Hex nut M10
© | 4 — 1
T Bolt M10*40 Plastic retainers @8
] '-"’* . '—_HJ\
@) 8 N @) 8 =
Flat washer D8 (8x24x2mm) Lock washer D8
Yad] |
T Bolt M8*26

15) 4

1

Hex bolt M8*25

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




RUNNING BOARD BRACKETS FOR 2023 HONDA H-RV

Installation Steps

INSTALLING PICTURE:

(The left and right installation methods are the same. Below only shows the left side installation)

Step 1: Verify that all parts are present according to the parts list. Make a clear distinction of left and right side
(driving position).

Step 2: Remove the rubber plugs from the mounting holes and keep the rubber plugs.

Step 3: Remove the screws or buckles from the mounting brackets of the chassis with tools, and keep the screws.

Step 4: Install the brackets as below figure shown.

Bottom vehicle hole position diagram
< Car head (L)
J

Front bracket
mounting

Rear bracket %
mounting point

Rear bracket
mounting point

Middle bracket
mounting point

Front bracket
mounting

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




RUNNING BOARD BRACKETS FOR 2023 HONDA H-RV

Car head (L)
)

e N
T Bolt (M10*40) + it
PVC Plastic T Bolt (M10*40)
retainers ¢10 + Hex bolt Hex bolt M8*25 [B]| * Plastic
M8*25 + Lock retainers¢10 +
Lock washer D10 + Lock washer

# washer D8 + Lock washer

D10+ Flat
washer D10 +
Hex nut M10

T Bolt (M8*26) + PVC Plastic
Flat washer D8 retainers $8 + Lock washer
*HexnutM8 83 DS + Flat washer D8 + Hex
SRR putms

D8+ Flat washer
D8+ Hex nut M8

+ Flat washer D10
+ Hex Nut M10

(D Remove the C and F rubber plugs from side skirt for open the side skirt. And then remove the A, C, D and F
rubber plugs.

2 Install rear bracket (L): Find out the mounting holes A and B, and then place the bolts in the corresponding
holes and fastening all the bolts. (as shown in the diagram above)

) Install middle bracket (L): Find out the mounting holes C and D, and then place the bolts in the corresponding
holes and fastening all the bolts. (as shown in the diagram above)

@ Install front bracket (L): Find out the mounting holes E and F, and then place the bolts in the corresponding
holes and fastening all the bolts. (as shown in the diagram above)

PS: The installation holes are under the side skirt, only need to open the side skirt, and no need to remove the
side skirt.

Step 5: Install running boards. Make a clear distinction of left and right side (driving position). Adjust the running

board to a suitable position to install with the bracket. Fasten all the standard parts.

Use the corresponding standard parts of the original running board to lock.

Car head (L)

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




RUNNING BOARD BRACKETS FOR 2023 HONDA H-RV
Step 6: Repeat above 1 to 5 steps to install the right side, and the left and right are consistent, and then fasten all
the bolts.
Step 7: Cut the skit plate: Only need to cut the place of below circles. Test and make sure that the grille guard is
steadily fixed, fully tighten all hardware. Installation is finished, pick up all tools.

NOTE

Any damages and losses caused by improper installation and application, goes beyond our quality
warranty.

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




